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Home Science

Paper 11

UEREEL
gyureRt 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. Wd U WrE.

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)

Which enzyme in meat is
responsible for increase in
tenderness during aging ?

(A) Cathepsins
(B) Lipases

(C) Amylases
(D) Lysozymes

Textures of baked products such as
cookies, pastries are evaluated by

(A) Tintometer
(B) Rheometer
(C) Viscometer
(D) Shortometer

Which of the following additives is
commonly used as thickening agent
in foods like soups and sauces ?

(A) Sodium Nitrate
(B) Xanthan Gums
(C) Ascorbic Acid
(D) Saccharin

1.

S ufeE3nsd @9 7% gogrEet
[Aeh{ Sl 3HHd.

(A) HITHH

(B) @mEuSH

(C) FTHESH

(D) AEE=TEHY

RIS, TS AERESA dF haledl
SCACATAT AT HEIHTTT ceovevvennene
q FHol W

(A) 2
(B) ReiHix
(C) fowanreter
(D) W

WA Teden! ShIvwl TaTY SIHwT: IO T
TE IR TSIAHE 90T A0S
AT ?

(A) difeam qree
(B) AR ™

(C) 3T&hRETR 3R
(D) FehiH
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4.

The anaemia due to deficiency of
folate is called as .........ccceeeeee.

(A) Pernicious

(B) Megaloblastic

(C) Hypochromatic

(D) Hemolytic

Active form of Vitamin D is .............
(A) Cholecalciferol

(B) Calcidiol

(C) Calcitriol

(D) Ergosterol

Which of the following is considered
as the Gold standard method for the
assessment of energy expenditure ?
(A) Douglas bag method

(B) DEXA

(C) Whole body chamber

(D) Doubly Labelled Water

The iron containing metaloprotein
present in muscles is called ............
(A) Haemoglobin

(B) Protoporphyrin

(C) Myoglobin

(D) Apoferritin

JUN - 17225/I1—A

thlcfd=l hHAXdH ol éuw LA &TATH
.................. 3TY RUEG.

O

Sl T RSl TIeierden]

FIVT Jgd gAYl AEh AEC S ?
(A) ST@™ ST 95d

(B) <=

(C) A st =R

(D) Tocl deelg dfeX
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10.

11.

FMN and FAD is produced by ...........

vitamin.

(A) Thiamine

(B) Riboflavin

(C) Vitamin Bqy

(D) Vitamin C

FSSAI stands for .........ccceeeeeeen...

(A) Food Standards and Safety
Authority of India

(B) Food Safety and Standards
Authority of India

(C) Food Sales and Standards
Authority of India

(D) Food Service and Standards
Authority of India

Jam and Jellies can be preserved by

adding sugar at the concentration

(A) 65%

(B) 75%

(C) 40%

(D) 30%

The most common cause of chronic
renal failure is .......................

(A) Diabetes mellitus

(B) Hypertension

(C) Autoimmune disease

(D) Malaria

10.

11.
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FMN 3nfot FAD =i fAfddanat ...

Steme @rd.

(A) g

(B) TF&IRIE

(C) SfferE™=-Byy

D) SeTEE-C

FSSAI =1 319 :

(A) HE TTE 3T TR AR A1h
EER!

(B) %S TP sfe B A aitw
HER!

(C) %S Teq ofs Wed i aitw
EER!

(D) FS IXH € T-ee AR Ah
EER!

died=a1 He=n ao gl
(A) 65%
B) 75%
(C) 40%
(D) 30%
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I;:IZ. Deficiency of essential fatty acids | 12. aTevdesh fEFHmI=a HANIHS ...
CAUSES .covvenvenrevenneeneennes Bl
(A) Beriberi (A) et
(B) Pellagra (B) e
(C) Phrynoderma (C) whrrirsHi
(D) Cheilosis (D) feciriE
13. Full form of NCHS is :
(A) National Center for Health 13. NCHS = fawaiia = -
Statistics (A) Toe T BR 3oy o
(B) National Center for Health
Studies (B) WM dX BR o e
(C) National Center for Human
Studies (C) TeMe dX ®R AT VN
(D) Nutrition Center for Health
Statistics (D) A FR TR T W
14. Duo-Trio test iS ..coveevveeeveennnn. type of | 14. fesfi-feslt I=ON .ovvvvvivienns ES I
sensory test. AT YRR 3T
(A) Difference test (A) ®TR ==l
(B) Rating (B) fem
(C) Sensitivity (C) Hag=gierdn
(D) Descriptive (D) UATHSR
15. Epidemiological triad is ................ 15. TeHamiNea IF8 IS oo
(A) Agent, host, environment (A) T2, B2, TIieXo
(B) Agent, vector, host (B) TSiZ, &KX, =
(C) Vector, carrier, environment (C) =, a8k, e
(D) Agent, environment, treatment (D) TSiE, TAERY, 3UER
oo
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16.

17.

18.

19.

Oleic acid is a :

(A) Saturated fatty acid

(B) Mono-unsaturated fatty acid
(C) Poly unsaturated fatty acid
(D) Omega-3-fatty acid

Sugar crystallisation can be
controlled by adding .................

(A) Cane syrup

(B) Maple syrup

(C) Corn syrup

(D) Molases

The hormone important for water
balance is :

(A) Antidiuretic hormone

(B) Adrenaline

(C) Cortisol

(D) Calcitonin

Which of the following is a protein
fiber ?

(A) Cashmere

(B) Tencel

(C) Aesbestos

(D) Acrylic

16.

17.

18.

19.

JUN - 17225/11—A

.....................

..............




oo

=

20.

21.

22.

23.

An inherently flame retardant
textile material is :

(A) Acrylic

(B) Nomex

(C) Silk

(D) Polyester

The weave used for corduroy fabric
is :

(A) Bedford cord

(B) Dobby

(C) Uncut pile

(D) Cut pile

A treatment of cotton fabric with
caustic soda to increase its strength,
luster and absorbancy is ..............
(A) Carbonizing

(B) Mercerization

(C) Sanforizing

(D) Scouring

Which of the following dye is
suitable for Polyester ?

(A) Disperse dye

(B) Direct dye

(C) Azoic dye

(D) Vat dye

20.

21.

22.

23.
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(D) HYet TR
el ShTISTR hifiZeh AT AR HEA
T qehe, T ATF0T Ioehdl JTEaTRT

(A) AR

(B) TR

(C) FTERMERT

(D) @=5 &

TifeTeX Tq TTAvaHIS! |eerdeh! hivrd
T I A ?

(A) feaud @

(B) &

(C) Tw™igsh T

(D) e W




B

JUN - 17225/11—A

IZEAIL. Which of the following is a | 24. @ITclicldsh! HIvTdl SMer=t TRYN®
traditional embroidery of Bengal ? TAhell e ?
(A) Kashida (A) wHi¥=T
(B) Kasuti (B) gt
(C) Kantha (C) =hten
(D) Phulkari (D) TRt
95. The weight in grams of 9000 meter | 25. 9000 HIe il 7T YHHEY o Ul
of yarn is its yarn count termed T UMD HHE SATEAT oo a7q
AS eerrerrreeeieens FRUIdId.
(A) Tex’ (A) ‘e’
(B) ‘Hank’ (B) ‘TF'
(C) ‘Lea’ (C) ‘=i’
(D) ‘Denier’ (D) ‘=’
26. “Silk mark” indicates that the | 26. IFfH 9= © SURATT .ovvvvvvnnnnen.
product is ........ccc.....e.. I ST
(A) 100% silk (A) 100% ™
(B) 90% silk (B) 90% Witw
(C) Silky in feel (C) WM
(D) Lustrous (D) =Heh<
27. Wearable electronic systems | 27. Soiseifeh YUTell 3fayd eweiet Ry
embedded in garments are known RIEE B 0 ARORRRRRN gl
as : SIGIGE
(A) Medical textiles (A) SEEE FUS
(B) Smart textiles (B) ®©E =S
(C) Geo-textiles (C) 5= =we
(D) Agro-textiles (D) FErg =H9S
[=]{3m
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28. Ball point machine needles are used | 28. .....cccc...e. Terauan s Rar dfa aige 7R
for stitching .................... A AR A
(A) Woven fabrics (A) T wge
(B) Knitted fabric (B) fes wrus
(C) Matted fabrics (C) e wIe
(D) Felt fabric (D) 7=
29. “Prét-a-Porter’ is a term used for | 29, ‘Te-31-T0T’ & TR cooveeervveennnen. e
................................. ATLAT ST
(A) Portable bags (A) Ueed ST
(B) High fashion clothes (B) 3= HIYEA wUS
(C) Readymade clothes (C) EHs &ue
(D) Mix and match clothes (D) T 3fve w9 FUS
30. The method of garment design used | 30. He femmaREgR e fegmea Sevam
by original designers is : TEd B ceeeeeeeeeeennnnn
(A) Draping method (A) ST usd
(B) Flat pattern method (B) 9Ue Y4 Ugd
(C) Drafting method (C) TIfRT Ugd
(D) Original method (D) Yo d9sd
31. Raw edges of seams of synthetic | 31. FHfFH GIUNH TR Hocd HUSA
garments are finished by : foFTR ASTA FHTTARS v R
(A) Binding e "
(B) Heat setting (&) =R .
(B) sour ®fem
(C) Peeko ) fu=m
(D) Overlocking (D) sﬁa‘i{aTiﬁ:n
10 OlH0
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32.

33.

34.

35.

Knitted garments should not be
stored on hangers because they :
(A) Shrink

(B) Become dull

(C) Loose shape

(D) Loose strength

A garment suitable for an infant
during summer season :

(A) Cape

(B) Romper

(C) Cardigan

(D) Protector

Fabric surface fault characterised by
little balls of entangled fibers
clinging to fabric surface is
called :

(A) Pilling

(B) Puckering

(C) Ravelling

(D) Abrasion

Repetition of a motif all over a fabric
is an example of :

(A) Emphasis

(B) Pattern

(C) Rhythm

(D) Completeness

32.

33.

34.

35.

JUN - 17225/T1—A
Tiee HUL Afw FHBHES! TR A
35 T RO
(A) d 3TehEda
(B) d TSt e
(C) ™= R foreredt
(D) = amar wH B
TR HeATHIe! S-aleddTd HeTuarie! A
HUS T e
(A) =9
(B) TR
(C) wHIfeT
(D) YRR
FHUSI=A] THHNTE Jdeiel dge Ble Ble
Mo WU shySar=al JoSHNERI SIY

.....................
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36.

37.

38.

Which of the following fibre is

damaged by moths ?

(A) Wool

(B) Acrylic

(C) Rayon

(D) Nylon

In terms of colour what are

‘TINTS’ ?

(A) Pure, unmixed colours

(B) Colours mixed with white

(C) Colours mixed with black

(D) Colours mixed with grey

In the context of urban planning,

what does the word “housing need”

mean ?

(A) The basic requirement for
shelter and living space

(B) The demand for large and
spacious residences

(C) The desire for luxurious and
extravagant homes

(D) The preference for historical and

vintage architectural styles

36.

37.

38.

JUN - 17225/T1—A
ETelierie! FIval 9q fhedigs B
e ?
(A) =
(B) 3fferfcia
(C) =

(D) rEE

T= wewid ‘Tree’ ®uS % 7
(A) s, fufsm @@

(B) Wie=n ¥a fagesera T

(C) ez T TH¥aseel T

(D) el fafya @

vl FrHrE wevld ‘e e

T yegrEn Tl e ?

(A) e ST TEvar=A1 SIPEE! Jaiyd
S| CRRC|

(B) e 37for yert frremeree =i Aol

(C) srrfawma srfor fa@aror ==
Eadl

(D) Wfcerfaes snfor st aregeren et

e

12
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39.

40.

41.

In urban household planning the
term ‘zoning’ means :

(A) The allocation of land into
different zones for specific uses
(B) The arrangement of roads and
transportation systems

(C) The architectural style of
residential buildings

(D) The design of public parks and
green spaces

Which renewable energy source
harness energy from the earth’s
internal heat ?

(A) Solar power

(B) Wind energy

(C) Hydropower

(D) Geothermal power

What is the role of ergonomics in
product designing ?

(A) Reducing manufacturing costs
(B) Maximizing production speed
(C) Improving user comfort and

efficiency

(D) Enhancing aesthetics

39.

40.

41.
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RS EETSEIE 2 B 11 & 0 A B
"N
(A) fafere TSt ATerTean FHE
S dreq
(B) T W01 ATEqeh HeRdEl SHawen
(C) ot guRdi=i argfes St
(D) wresifeR e STIftT feveammR st
LGkl

FHIVIAT & HT gedtsAr HAAHd

SSUTAIEA 3a= B ?
(A) ¥R F
(B) wed Sl

(C) SeAfergd

(D) yafifoore wrrit

Scured fegmemed wiiAifqaa=t

qfHehl e ?

(A) SqRT @E FwH H

(B) e Tl Afero

(C) STRTATHIRAT TR ST e
ElcEN|

(D) wied arefer

13
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42.

43.

44.

45.

What does the rule “20-20-20” stand
for ?

(A) 20 hours of sleep per week
(B) 20 minutes of exercise daily
(C) 20 seconds of screen break
(D) 20 days of holidays in a year
The main objective of organizing
stage of the management process
is :
(A)
(B)

Setting goals and objectives

Allocating resources and
assigning tasks
(C) Monitoring performance and
taking corrective actions
(D) Motivating and inspiring the
team
Identify the correct stages of family
life cycle :
(A) Expanding stage, beginning
stage, contracting stage
(B) Beginning stage, contracting
stage and expanding stage
(C) Contracting stage, expanding
stage and beginning stage
(D) Beginning stage, expanding
stage and contracting stage
Primary objective of municipal solid
waste management in India is :
(A) Maximizing landfill capacity
(B) Minimizing waste generation
(C) Promoting waste incineration

(D) Enhancing waste export

42.

43.

44.

45.
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“20-20-20” =9 &M@ <fad ?
(A) T TSIl 20 T M
(B) TS 20 fAfe =amm

(C) 20 ¥*g &R 3H

(D) =wid 20 fead gz

SHEEATI Yishar=Al SIS 0T H&

R :

(A) =g aTfor 3fese fAfy=ad &

(B) W& d1ed H0T 001 el e
HLO

(C) wmEfrd= fAderor wyor efo
YURIHS el H0!

(D) T YoM <Oy

Figfaw StaTam

3o

(A) ToEREn T, geard=n T T
HIET T

(B) geawdi=l o1, HI=l <1 ST
forr=r 2om

(C) ST oW, fasRm=r 2o effor
YRR 2o

(D) geardrar zu, forrEn 2o shfu
HIAET T

YRATIA TR AR ST ST

mygfaes 3fese ¢

(A) oisfra emar arefan

(B) s fafddr s =

(C) HaU STeUIE Yredegd <ol

(D) == I areao

g T
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46.

47.

48.

49.

Objective of ‘IS’ mark is to :
(A) Indicate the manufacturing
date

(B) Highlight promotional offers
(C) Identify the product’s country of
origin

(D) Ensure the product meets
specific quality of standards
Distance between two building
should be minimum
(A) 2 to 3 meters
(B) 3 to 6 meters
(C) 1 to 2 meters
(D) 4 to 5 meters

The process of forming an image

using tiny dots is called :
(A) Cross-hatching

(B) Grisaille
(C) Hatching
(D) Stippling
The right to

consumers to

(A)

choose allows

Access quality products and
services
(B) Make decisions based on

personal preferences

46.

47.

48.

49.
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ISP fawm=n Sewn e
(A) IR AE Rfen
(B) UMM SAHL BREICTSE vl
(C) SR b 39
(D) e faf¥rse eyl sree=
eI

ol ol Ir\dhlch EIEESS I(\S$1l$'1 [SEZIES
HCOIE] YiRa S
(A) wrg-gfem

(B) fma

(C) &fem

(D) feufam

..............

A <4l
(A) TSR SR o Fal Hlaen G
(B) afeder qddior menfi fofg =o

©) Rece.lve free goods and services ©) T 7 fw
(D) Avoid all consumer
responsibilities (D) TEHTAT T SR 230!
15
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50.

51.

52.

53.

What plan is popularly known for
long-term retirement savings with
the
(A)
(B)

advantages ?

401(A)

401(K)

(C) 401(C)

(D) 401(M)

What does the products grade label

indicate ?

(A) Product’s quality

(B) Displays the brand name
prominently only

(C) Provides usage instruction

(D) Highlights promotional offers

In terms of principles of design

which one is mostly closely

associated with the golden ratio that

is frequently observed in art and

architecture ?

(A) Harmony

(B) Proportion

(C) Emphasis

(D) Balance

What does the term ‘CAD’ stand for

in design ?

(A) Creative Aesthetic Development

(B) Computer Aided Design

(C) Customer Analysis Database

(D) Conceptual Artistic Drawing

50.

51.

52.

53.
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Y REACAHE ISR FaTa Tl
SIS DI ST ABTT TR ?
(A) 401(A)
(B) 401(K)
(C) 401(C)
(D) 401(M)

IEATIIA U o 9H=ad: &
geffaq ?
(A) STCATE! TorE Sied

(B) sifed 1 ekl S3hdul TrEEd

(C) IR F= <d
(D) TERHE AT g id

el I SRgehaHed ‘Tieed W=
Seesal Ha Y fesmgT=an s awei
e ?

(A) Tehdl

(B) gHM

(C) wEr

(D) HgeH

fegmgmed CAD 3= a1¢d
(A) frafees oeddter Smarude
(B) ®mR T fegme

(C) FEM FAREH e

(D) TS F=rh SR

..........
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54.

55.

56.

Significance of the Swachh Bharat

Mission in the context of municipal

solid waste management is :

(A) Encouraging littering

(B) Promoting waste accumulation

(C) Achieving cleanliness and
proper waste management

(D) Supporting illegal dumping

The sequence of birth process is

(A) Birth — Dilation — cutting of

umbilical cord — Detachment of

Placenta

(B) Dilation — Birth — Detachment
of placenta - Cutting of
umbilical cord

(C) Cutting of umbilical cord —
Dilation — Detachment of
Placenta — Birth

(D) Birth — Detachment of Placenta
— Cutting of umbilical cord —
Dilation

bioecological model of

the

environment as a series of nested

development pictures
structures.

(A) Urie Bronfenbrenner
(B) Jean Piaget

(C) Erik Erison

(D) Lev Vygotsky

54.

55.

56.

JUN - 17225/I1—A
TR cTeh = S eha] SHaETaT=a T
T E= WRd faere #ed oTR
(A) FE THTIH W= 0
(B) F0l WU H0AE TR 0

(C) Tl il Irg e ST
e w0
(D) FHERIM HE AhFa qifest Qo

....................

(A) S - TEOT — B hIq0] — IGT

SAferan

(B) faohRol - S - b= Siferaan
- s Y

(C) MefiEsitEr SR HE0 - had -
TrosHaE sfeaa - S

(D) 979 - "
TefTEEEET IR FHIIU-thard

sifaeaar -

TS THad=Al A JHTo Ferum
e =

(A) I TG

(B) SA fy==

(C) s TR

(D) W ARt

17
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S are a framework of | g7 %WWW a7for
principles and guidelines for the best
freondial Faid dgdEer aw S
practices in care and education of
young children. fexfeh A=t <k oM.
(A) High scope curriculum (A) 39 I SITHA
(B) Creative curriculum
ive curriculu B) T &
(C) Reggio Emilia curriculum
(D) Developmentally appropriate (C) st T i
curriculum (D) forrCHRgte AT STHEHH
58. Individuals are classified as o ¢ o o
58. ETAHhIE-Td1E ISHIU AEUTER 1Q
moderately retarded when the 1IQ
TRIBT eeveverenns =1 ST 3Tl degl
scores range between .............cc.......
according to the Stanford-Binet ST TR0 HEAH A T hed .
Intelligence Test. (A) 53-70
(A) 53-70
(B) 22-36
(B) 22-36
(C) 36-52 (©) 36-52
(D) 100-120 (D) 100-120
59. Child and Adolescent Labour | 59 47 aqfor forsiRa=iia SR (wfdsrer afor
(Prohibition and Regulation) Act IEREED Bk - N " AN
was introduced in ....................... HLOGI 3T
(A) 1986 (A) 1986
(B) 1980 (B) 1980
(C) 1991 (C) 1991
(D) 1982 (D) 1982
18 [m] {5 [



60.

61.

62.

63.

..................... are primarily
responsible for development of
secondary sexual characteristics and
sexual maturity.

(A) Testosterone

(B) Estrogen

(C) Estradiol

(D) Gonadal hormones

..................... syndrome is the return

of adult children due to
unemployment and broken
relationships.

(A) Empty nest

(B) Beginning phase

(C) Cluttered nest

(D) Scattered nest

..................... is specialized medical
care for people living with serious
illness.

(A) Old age home

(B) Palliative care

(C) Hospice

(D) Curative therapies

A situation of middle-aged adults
pressurized by the demands from
both the younger generation and
elder generation simultaneously is
called as .....ccccevvveeeieene

(A) Sandwich generation

(B) Midlife crisis

(C) Adolescence crisis

(D) Early life crisis

60.

61.

62.

63.

JUN - 17225/I1—A
T TifiTeh af¥Tse it <ifiteh giaear
foskfaa wIvamETel
WA SRR 3T
(A) TRRETH
(B) sEISH
(C) TEEA
(D) e BEi

oy oSt SRSy SAfor

...............

qeedl FeaUme We Jod URd Il
A) fepm ==e

(B) geardr=n 2o

(C) TiTesaial =2

(D) fogge ==

& TR SR eTEed
RS foave SEeE e o

(A) 518

(B) IURMHS KIS

(C) wrwema

(D) 3YERIcHS 3ITAR
e Uie SHeki=a1 TehTd 93! qeuIae!
a1t g5 Tuci= wnTvityes Sae Sfureiean
Y UL

...............

................
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64.

65.

66.

67.

Domestic Violence Act was
introduced in
(A) 1999
(B) 1997
(C) 2005
(D) 2010
The Indian Penal Code
deals with Eve-teasing.
(A) Section 326

(B) Section 340

(C) Section 336

(D) Section 354

According to Ericson, the earliest

interactions between the mother and
child lays the foundation for the
child’s development of ...................
(A) Autonomy

(B) Trust Vs. Mistrust
(C) Attachment

(D) Dependency

Family Disorganization is
(A)

Disruption in the structure and
functions in the family unit

(B)
©)

Unemployment

Arguments between the family
members

(D) Unemployment, incompatibility

between the couple

65.

66.

67.
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.............

(A) 1999
(B) 1997
(C) 2005
(D) 2010

(B) =eTH 340
(C) hetH 336
(D) =cH 354

TREFET= WA, 3TE N Ja AreAmdie

...............

(A) wrefas girensia wfaa enfo
FEAE AT

(B) ISR

(C) FHanid T a5

(D) SRS, Sewmdeid STEad
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68.

69.

70.

Role play and reframing are

techniques used in ......................

(A) Directive counseling

(B) Music therapy

(C) Family therapy and counseling

(D) Rational emotive Behaviour
therapy

The National Commission for

Protection of Child Rights Works

under the aegis of .................

Government of India.

(A)

(B)

Ministry of External Affairs
Ministry of Human Resource
and Development

(C) Ministry of Information and
Broadcasting

Ministry of Women and Child

Development

D)

.................... focuses on changing the
irrational thoughts or beliefs that
negatively affect a person’s emotions
or behaviours.

(A) Cognitive Behaviour Therapy
(B) Rational Emotive Behaviour

Therapy
(C) Transactional Analysis

(D) Psychoanalytical Therapy

69.

70.

JUN - 17225/11—A

(A) THRREAA AHR TATH

(B) A EEEHA e (HTHeeS foshe
)

(C) wifedt FERU HA@E

(D) #fgen smfor o foshrd #e™

TETes SFadren fad

SNTUERTER ThRICHR TRUTH IR THEA

foar e favam aeavarer @& hisa

.

(A) TIHICHS A O

(B) THhIE W& adven Ol
(C) =agr fageroo
(D) HAfoTATONcHS

................




JUN - 17225/I1—A

[=]
0 is a common phenomenain | 71. .cooooeiiiiiinnns Bl JGTEdIe Teh HH
old age. AT ..
(A) Insomnia (A) fHgmm™
(B) Increase in Height (B) 394 9@
(C) Menarche (C) T
(D) Substance Abuse (D) weTed TEHAM
72. A  short-term management 79. W Jufad SN 99 ST
technique to reduce potential IFEA FH FOAEE AT
permanent damage to an individual
affected by a crisis : ) i
(A) Crisis management (A) Fehe e
(B) Group intervention (B) e TEIE
(C) Crisis intervention (C) Hhe TH&Y
(D) Group management (D) & HIEAGH
73. Communication is a primary tool for | 73 YUYW T .oeevvnnnennnnn ER N ICIICIEED
effective ......coevevveenneens YA 3T,
(A) Speaking (A) Sreray
(B) Behaviour change (B) aU® a<A
(C) Impact (C) gy
(D) Channels (D) =[d (|1eEm)
74. Educational planning is a ............. 74, NeIfTEH BREST oo, yisran e
process. (A) FSH
(A) Strenuous
(B) Cumbersome (B) s
(C) Dynamic (C) feretter
(D) Simple (D) we
22 OlH0
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75. Extension term originated in ........... 75. foWR (Extension) & TR oooovvneene.
(A) 1866 fefor et
(A) 1866
(B) 1867 (B) 1867
(C) 1868 (C) 1868
(D) 1869 (D) 1869
76. The basic characters a good message | 76. TN TR woovvvvveennnns Tera aferse
include : 3.
(A) Not in line (A) =afeed 90
(B) Specific (B) T 310
(C) Inaccurate (C) Fei= g0
(D) Complex (D) AR ST
77. Comprehensive information abouta | 77. ....ccceveennnn JMHET ATk Hifed] feoft
topic is given in : SIGA
(A) Leaflet (A) Th
(B) Folder (B) w€t ufsrenr
(C) Bulletin (C) B 3fed
(D) Newsletter (D) gduA
78. Mass media channel include : 78. TTEUh HIETHTHAET coovvrennnn. Il
(A) E-mail FHE Bl
(B) Television Eg; gj;i@nﬁ
(C) Personal letter (C) Afera I
(D) Personal visit (D) =afeTd 92
79. The knowledge base for a technology | 79. TG JIAMRET AER FHID: ...
usually derives from ...................... Tos U Bl
(A) Basic Research (A) HoYd WWTE@’
(B) Applied Research (B) IA=ES WWT@
(C) Technology Testing (C) TR ==
(D) Technology Development (D) T WTE@
23 [=]{3m
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80.

81.

82.

83.

84.

Puppetry become a valuable ...........
if the
communicated is developed in

only message to be
dramatic terms.

(A) Art

(B) Visual aids

(C) Guzzet
(D) Speaking
..................... plays a vital part in
realizing the aims and objectives.
(A) Planning

(B) Management

(C) Curriculum

(D) Examination

..................... is decision-making
process.

(A) Programme planning

(B) Technology

(C) Social development

(D) Need
Community development
programme was launched in India
(A) 3rd October 1952

(B) 4th October 1952

(C) 2nd October 1953

(D) 2nd October 1952

How many steps are in community
development process ?

(A) 4

B) 7

C) 8

D) 5

80.

81.

82.

83.

84.
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F3YAH! B STFH B S HAG AL

TR ARIT YgdH fasfad e e
T

(A) el

(B) T §Yq

(C) TeRTsitd

(D) e

...................

D) R’

TcE fommmET SREd IRaWE ...
ST Efavare geard s

(A) 3 3R, 1952

(B) 4 3R, 1952

(C) 2 3R, 1953

(D) 2 3AERER, 1952

TerE faemaren gfsramed fohdt a=en
(TA) A ?

(A) 4

B) 7

(C) 8

D) 5
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85. . is one of the principle of

extension education.
(A) Time
(B) Goal
(C) Objective
(D) Participation
86. e, is a non-projected audio-
visual aids.
(A) Talking Doll
(B) Cinema
(C) Motion picture
(D) Video
87. Long form of KVK ............c.........
(A) Knowledge Vidyan Kendra
(B) Knowledge Vishesh Kendra
(C) Krushi Vishesh Kendra
(D) Krishi Vigyan Kendra
88. e is an electronic audio-visual
medium which provides pictures
with synchronized sound.
(A) Radio
(B) Tape Recorder
(C) L.C.D. Projector
(D) Television
89. The following is phase of Training :
(A) New era phase
(B) OIld era phase
(C) Post training phase
(D) Future era phase

86.

87.

88.

89.
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KVK ¥ quf &9 :

(A) Knowledge Vidyan Kendra
(B) Knowledge Vishesh Kendra
(C) Krushi Vishesh Kendra
(D) Krishi Vigyan Kendra

................ T SRl ShATA WIEA
YT A Tosre Tas qEid .
(A) ==

(B) TWHIET

(C) TAHEL TS

(D) eftfegs (gRfemmami)

Trefiel YiRI&romen <o SR

(A) T =T T

(B) ST =T <o
(C) 92 yieTeror 2oq

(D) wfgs F=n <o

90. Panchayat Raj is a system of : 90. TAFARS B WOMEH covervenvennennn 3TTe.
(A) Local government (A) e ImEA
(B) Local administration (B) Tfieh gImEA
(C) Local self-government (C) T eh -3 A
(D) State government (D) TS99 IMEA
25 [=] 35 =]
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92.

93.

94.

95.

. Which of the following is a type of

hypothesis ?

(A) One hypothesis

(B) Absolute hypothesis

(C) Abstract hypothesis

(D) Null hypothesis

The p-value of a statistical
hypothesis test refers to :

(A) Power

(B) Practicality

(C) Probability

(D) Parametric

The entire group from which sample
is chosen is known as :

(A) The population

(B) The group

(C) The mass

(D) The people

After data has been edited, the next
step is t0 .ooevvvvrveinnnnnnn. it.

(A) Publish

(B) Tabulate

(C) Classify

(D) Rearrange

................... seeks to identify whether
an association or relationship
between two factors exists.

(A) Correlational research

(B) Experimental research

(C) Case study

(D) Survey

91.

92.

93.

94.

95.
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TTEAdHT HIVTAT EAHTET GHR
Mg ?

(A) TH TR

(B) Uy TEaw

(C) d TRIaeh

(D) I TEIAH

HifeTehta Eiaeh =EviEs P = g
? ggferd.

.....................

(D) WHIH

Y TEUTAT.

............

7Y 3l ad.

(A) TREREILIHS TN
(B) WEfieh Eeied

(C) ¥ wei

(D) HS&m
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96.

97.

98.

99.

100.

A measure of the variability in different
values of sample mean is given by the
............ of the sample mean.

(A) Sampling Distribution

(B) Normal Distribution

(C) Standard Error

(D) Variance of Sample

A concept which can take on
different quantitative values is
called a ......ccueeee.....

(A) Control group

(B) Hypothesis

(C) Research design

(D) Variable

................ refers to the process of
assigning numericals or other
symbols to answers so that responses
can be put into a limited number of
categories or classes.

(A) Classification

(B) Coding

(C) Variable

(D) Editing

The primary goal of applied research
1T 7o SO

(A) Solve or provide answers to
practical problems

Test theories and hypothesis
Address research issues in
partnership with local people
Gain knowledge with no aim of
using it

It is the spread between the highest
and the lowest score
(A) Ratio

(B) Mean

(C) Standard deviation
(D) Range

(B)
©

(D)

96.

97.

98.

99.

100.
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T FEIA] SFTaTTeed] JedrHed
TREdeedd HISTHY THAT LT

R foar .

(A) T ferm

(B) 9= foao

(C) Mk F

D) T R

= aRomaeres gea Fehed

A BT 4.

A) @ =

(B) &I

(C) GeNeH SRS

(D) =

SUUAT HEATHS foha s s g

Fvare Yiwaen ded e SvremEd

yfqarg wifed SofHed fenan amiged Jaan

.

(A) FIteRTor

(B) HIEm

(C) =

(D) HURA

IYAIfSIG GeeA Wafhe Sfese

T 3T

(A) RIS YA ST ol

(B) fagia enfor T&as qum

(C) Tonfieh clishT=n MR HeieH
T diefan

(D) ATIRUATET 3T 7 S Hife fHesao

31 Walted M0 Hard el 707 A1 AT

TER AR

(A) TUIRR

(B) 9Uad v
(C) yHIfvIg fa=e™
D) =it

........

ofio
[=]



ROUGH WORK
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